i e B
mt M
blockDFS(v) —_— 3
pred(V) = num(v) = i++, Connectivity in
for all vertices u adjacent tov .
if edge(vu) is not on stack undlrected graphS
push(edge(vu));
if num(u) is 0
=~ -blockDFS(u);
[if pred(u) = num(v) /1 if there is no edge from u to
\ e=pap(); \ - /I a vertex above v, output a block
| whilee# ea’ge(vu) // by popping all edges off the stack
~oulpui €, // until edge(vu) is popped off;
" €= pop();
output e; /l @ == edge(vu);
pred(V) = min(pred(v),pred(u)); // take a predecessor higher up in the tree;
else if u is not the parent of v
pred(V) = min(pred(v),num(u));// update when back edge(vu) is found;
blockSearch()
for all vertices v
num(v)=0;
i=1;
while there is a vertex v such that num(v) =0
blockDFS(v);
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